BEXRETADFER. REEF A X EZROBGREANEHERR
3—2. EDMD KR BHMFOMNERER

TS
Z&(em) | 1 2 3 4 5 (A (mSv/%F)

1| So&EAR—L |SZ 108178 Bh | 846 50 |008 010 | 008 | 0.10 | 0.10 0.10 0.09 0.473

2 |ErgmEness—| B 1081788V Bh| 1414 100 | 007 | 007 | 007 | 0.07 | 0.08 0.08 0.07 0.368

3 [n—ton-zr—ysor| BiihE | 108198 A | 9:35 100 | 007 | 0.10 | 0.10 | 0.10 | 0.10 0.10 0.09 0.473

4 | ETEFHIKIE |ShZHF 108198 Bh | 1449 100 | 0.06 | 0.06 | 0.06 | 0.06 | 0.07 0.07 0.06 0.315

5 |#RMAXFAAES| B 108198 Bh | 1535 100 | 010 | 0.11 | 0.10 | 0.09 | 0.10 0.11 0.10 0.526

6 | IAYRMS—2 | Bt |108188| <£Y | 10:19 100 | 007 | 007 | 0.06 | 0.06 | 0.06 0.07 0.06 0.315

7 | SLwkS—4 | EihZE |108208| Bh | 13:58 100 | 016 | 0.14 | 0.11 | 0.10 | 0.16 0.16 0.13 0.683

8 |ZAEUELS—| BiithZ |108178| F/2Y | 1550 100 |[0.10 | 0.10 | 0.10 | 0.10 | 0.11 0.11 0.10 0.526

X1, ERETOREOHRET HEEE=1.0uSv/h

X2, FERREmSv/E) = (FHME(L Sv/h) X 8ER) + (F9MB(1Sv/h) x 0.4 x 16B5R)] x 3658 +1,000

(RBER) RSB (mSv/ ) = [(FH9ME( 1 Sv/h) x 8ESRACT B 24BN BAMCLVBRERM) + (FH9E(LSv/h) X 04 BNBRE GE~VHE (04) DHEKE
RE) x 168508 (160 RIMETE T HEVVSETE/ A8 —UE{RFE)] X 3650 + 1,000 (BAIEIICET )



BEXRETADFER. REEF A X EZROBGREANEHERR
3—2. EDMOAHIER2) BHMFOMNEHR

e
E&(em)| 1 2 3 4 5 (usv/n) [(A(uSv/h) | (mSv/&)
o | shbU R | s (108108 Bh | 1415 | 100 |o011 |01t o011 {012 [o12 | 012 0.1 0578
10 |Bmamases—| Bz [108198| Bh | 1340 | 100 | 008 | 008 | 008 |009 | 009 | 009 0.08 0.420
11 |me pumEssmes| S0 (108198| Bh | 1102 | 100 |o10 [o11 |01t {011 {011 | o1 0.1 0578
12 %2?%532;@’3& gz (108178| Bh | 920 | 100 |007 |007 |007 |008 [006 | 008 0.07 0.368
13 %3?3:]3,%?)@3& g [108198| ®sh | 1140 | 100 |01 | o011 |01 [ot0 [o11 | o1 0.1 0578
14 | IBREMNER | Bz 108188 Y | 947 | 50 | 008 |008 | 007 |008 |008 | 008 0.08 0.420
15 [IBNENIhek| Bz 108188 |8y mn| 1101 | 50 |009 |010 | 009 | 009 [008 | o010 0.09 0.473
16 | IBRSE/NH: | Bz [108198| B | 1241 | 50 | 009 |00 | 007 |006 | 007 | 009 0.07 0.368
17 | IBAF /4 | Sz (108188 |2y | 851 | 50 | 007 |007 | 008 |008 |007 | 008 0.07 0.368

X1, ERETOREOHRET DEEE=1.0uSv/h

2. FERREmMSv/E) = [(FHIB(u Sv/h) x 8ERA) + (FIME(u Sv/h)) x 0.4 x 1685R)) x 365 H =1,000

(FRER) FERRIRE (mSv/4) = {CE191B(u Sv/h) x 8BERAT1 B 24BERAD M. BAMZUWBRERR)) + (B4 Sv/h) x 0.4LBRIRE GE~NVR (04) DHEAE
RE) x 168508 (160 RIMETET HEVNSETE/ A8 —UZ{RFE)] X 3650 + 1,000 (BATEIITET )



